1.

Re#7FAN BN FHRICELBERE 01

(1)

(3)

FERDZRDE. (SHk17408, Afh27520%, Bik345 30, CHk57)

23 —202+3x—4 % x+2 TH 3. (2) 23— 322 +5x+8 % x—3 TH 3.
x+2)x3—2x2+3x—4 x—3)x3—3x2+5x+8

2% 4+ 422 -8 —6 % 22+ —1 TH3. (4) 2*—23+522—-3x4+4% 22+1 TH 3.
x2+x—1)2x3+4$2—8$—6 x2+1>x4—x3+5x2—3x+4
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2. WERDERDL (SH15540F, A2 20F, B3 2308, C#55)

(1) 234322 -2 —4 % x+3 TH 3. (2) 23 -4’ +3x—T7 % x—2 TH 3.
x+3)x3+3x2—2:17—4 x—2)x3—4x2+3z—7

(3) 323 — 42’ +6x —T % 22—z —1 TH . (4) 2t =323 422 —dx+2 % 22+ 1 THEHS.
wz—x—1)3x3—4m2+6x—7 x2+1)x4—3w3+x2—4x+2
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1.

RetTFAS BN ZFHICKIBRE 01 BESIHS
FERDZRDE. (SHk17408, Afh27520%, Bik345 30, CHk57)
*x BRI OHE (EH)

CCOREITIZ RV, RE0 DN H 5 & ZiE, ZHZF>THLT 5 &, 7, FEHIITIE, XF2HELT, RELT%
FCEI LT, MAVTRIELDENVEDS LRI TEENTE 2.

(1) 2>—-222+32—-4% 42 TH 3. (2) 23 -322+5x+8% x—3 THl3.
22 —dx +11 x? +5
x+2)x3—2x2+3x —4 x—3)x3—3x2+5z +38
3 4 222 23 — 3z
—4x2 + 32 S5r +8
—42% — 8z 5 — 15
11z —4 23
11x 4 22
—26 [i5] z2+5
{ﬁb 23

{ﬁ x? — 4x + 11
KD —26

(3) 223 +42°-82—-6% 2>+ —1 TH 3. (4) 2*—x234+522-3x4+4% 22+1 TH3.
2r  +2 22 —x +4
x2—|—x—1)2x3+4a:2—833—6 $2+1)m4—m3+5x2—3x+4
23 + 222 — 22 x? + 22
222 — 6z — 6 —x% 4+ 422 — 3z
222 4+ 22 — 2 —3 —x
—8xr—14 4o — 22 4+ 4
422 +4
B 2x+2 —2z
{ﬁb —8xr — 4

{ﬁ 2 —x+4
Kb —2x
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2.

FeRDZROD K. (SHh15740%, Afk27320%, B3 73308, CH#ks55)

(1) 23+312—22—4 % x4+ 3 TH 3.

x2 -2
x+3) 23 +32%2 22 -4
23 + 322
—2x—4
—2xr—6

2

{ﬁ x2 — 2
Kb 2

(3) 323 —4a?24+6x—T% 22—z —1TH 3.

3z —1
:cz—x—l) 323 — 42?2 + 62— 7

323 — 322 — 3z

—22 49z -7
-2 +az+1
8r —8
{ﬁ 3z —1
RO 8x -8
© Bt -

(2) 23 -4’ +3x—T7 % x—2 TH 3.

22 -2z —1
x—2) 23— 42?2 +3x -7
23 — 222

—222 4 3x
—222 + 4z
—x—7
—x+2
-9

{ﬁ 2 —2x—1
R®D -9

(4) 2t =33+ 22 —dx+2 % 2241 TH 3.

2 — 3z

x2+1> zt — 323 + 22 — 4 +2
z? + 22
—3a3 —4x
—323 — 3z

—r+2

{ﬁ z? — 3z
£ —x4+2
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